
N301168-2 
65101-11913-B 

Installation Instructions 
Honeycomb Shades 

Cordloop & Cordloop TD & Cordloop Day & 
Night & SmartRelease Cordloop 

Getting Started 
Remove shade from package. Save packaging until 
shade is installed 
and working to your 
satisfaction. 

Tools: 

� Power drill 
� Tape measure 
� Screwdriver 
� Level 
� Pencil 

Installation Screws 
Surface Fastener 

Wood 

#8 1 1/4” 
Screws 
(Provided) 
M4x48mm screws 
(Provided) 
#6 3/4” screws 
(Provided) 

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

Check Components/Hardware: 

 Installation Bracket  Hold Down Brackets 
 (Optional) 

Hardware Standard Quantity 

Order Width (X) 
X≦
39" 

39"＜
X≦
66" 

66"＜X
≦93" 

93"＜
X≦
120" 

Installation Bracket 2 3 4 5 

Order Width (X) 

1 1/4" Screw for Cord 
Tensioner 

1 1/4" Screw for 
Installation Bracket 
3/4" Screw for Hold 

Down Bracket 
(Optional) 

2" Screw for 
Installation Bracket 
with spacer block 

(Optional) 
Hold Down Bracket 

(Optional) 
Spacer Block 

(Optional) 
Note: Optional flat head screw included. Use as
needed. 

Step 1: Bracket Installation

Measure 3” from both ends of the headrail. Mark
bracket location on the mounting surface.

Ins ide Mount 
� Use two #8 1 1/4” mounting screws to secure
brackets. Use wall anchors for drywall or plaster
wall. 

1

1/32

Outs ide Mount 
� Use two #8 1 1/4” mounting screws to
bracket. Use wall anchors for drywall or plaster wall.

3” Space Evenly

X≦
39" 

39"＜
X≦
66" 

66"＜X
≦93" 

93"＜
X≦
120" 

Cord 
2 2 2 2 

4 6 8 10 

4 4 4 4 

4 6 8 10 

2 2 2 2 

1pc to extend distance 3/8” 
2pcs to extend distance 11/16” 

Note: Optional flat head screw included. Use as 

Step 1: Bracket Installation  

Measure 3” from both ends of the headrail. Mark 
bracket location on the mounting surface. 

” mounting screws to secure 
Use wall anchors for drywall or plaster 

1/16"

2"

” mounting screws to attach each 
bracket. Use wall anchors for drywall or plaster wall. 

1/16"

L2

� * For shallow mount, use the provided flat head
screws to secure the bracket as shown in the 
image below. 

Step 2: Shade Installation 
Position the headrail at an angle so that it hooks into
the front of the bracket. Then push upward to snap
the headrail into the brackets. 

t
in

� For easier installation, lower the middle rail of
CordLoop TD away from the headrail before 
installing the headrail.   

Note: You will hear a click sound once the head rail is 
properly secured. 

3” Space Evenly 

� For 3/8”Single, 
1/2”Double, 
9/16”Single, 
3/4”Single , allocate a 
min. distance of 1/16’’ 
from wall to the front of 
brackets as left drawing 
shows. 

� For 1 1/4”Single, 
3/4”Double , allocate a 
min. distance of 1/32’’ 
from wall to the front of 
brackets as left drawing 
shows. 

� For 3/8”Single, 
1/2”Double, 
9/16”Single, 
3/4”Single  allocate a
min. distance of 
1/32’’ from wall to the
bottom of brackets 
as left drawing 
shows. 

� For 1 1/4”Single, 
3/4”Double ,  
allocate a min. 
distance of L2 from 
wall to the bottom of
brackets as left 
drawing shows. 
0≦L2≦1/4”

flat head 
s to secure the bracket as shown in the 

Position the headrail at an angle so that it hooks into 
the front of the bracket. Then push upward to snap 

proper installation, start by attaching the fr
and ensure to stick rig  

For proper installation, start by attaching the front 
of the rail to the bracket and ensure to stick
right in place.

Step 3: Cord Tensioner Installation 
Both Inside mount & Outside mount Cord Loop 

cord tensioners will be provided with the shade 

regardless of the mount type. The Cord Loop cord 

tensioner pre-attached on the cord will be determined by 

order mount type. You may find the other type of cord 

tensioner in the hardware box. 

Please refer to the installation instructions in the 

hardware box to find the steps for installing and 

exchanging the IM & OM Cord Tensioners. 

IM Cord Loop Cord Tensioner   

OM Cord Loop Cord Tensioner 

For IM, to avoid the Cord Tensioner interfering with 

the bottom rail and fabric, please install the Cord 

Tensioner a bit forward. Do not install the Cord Tensioner 

aligning to the head rail. 

★★★★ Congratulations! You have finished

installing the shade. 

How to Install Hold Down Brackets (optional) 

A. For Hold Down Brackets.

� Use #6 3/4” screw to secure each bracket.

B. For Magnetic Hold Down
Use M3x15mm screw to secure the magnet catch at
the below location. Make sure the magnet catch
aligns with the pre-installed magnet on shade bottom
rail.

allocate a 

’’ from wall to the 
 

from 
of 



Shade Operation 

●●●●For Cordloop, Pull cord to operate shade. Cord 
Tensioner must be fully tightened prior to operating 
the shade.  

●●●●For Cordloop TD & Cordloop Day & Night, Cord 
Tensioner must be fully tightened prior to operating 
the shade. 
Original status is as below picture. 

Pull the control cord as the arrow direction in below 
picture. The middle rail & bottom rail will go down 
together as below.  

Pull the control cord as the arrow shows. The bottom 
rail will stop once it reaches the bottom. The middle 
rail will raise to the top. 

The middle rail will stop when it meets the headrail. 

Pull the control cord as below arrow direction, the 
middle rail will go down.  

Pull the control cord as the arrow shows. The middle 
rail will lower. Once the middle rail reaches the 
bottom, the middle & bottom rail will raise up 
together.  

The middle rail & bottom rail will stop when they meet 
the headrail. 

●●●●For SmartRelease Cordloop, 
Cord Tensioner must be fully tightened prior to 

operating the shade. 
Pull the front control cord to let the shade go up. 

Pulling the back control cord will allow the shade to 
fully lower automatically.  
To stop the shade from lowering, gently pull the front 
cord. 
Note that the control cord should not be too tight 
during installation, and there should be no 
obstructions when the shade is lowering.  
Please do not play with the bottom rail or the control 
cord as this may cause damage to the shade.  

Remove the Cord Tensioner 
OM: Hold the tab up with a small screwdriver and 
slide the cord tensioner out of its base.  

.
IM: Slide the cord tensioner out from its base. 

Shade Removal 

� Fully raise the shade.
� Gently pry the bracket off the headrail with a flat
screwdriver.

� Remove the shade.

Note 

� Keep away from heat, sparks and open flame. 
� Larger windows may require two people for 
installation. 
� During installation, firmly support the shade to avoid 
its falling down. Failure to do so man result in 
damage to the shade or injury to oneself.  
� Only operate shade with the pull cord.  
� To ensure child safety, install cord cleat and tighten 
up any loose cords after the shade is installed 

Cleaning 

Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the headrail should 
never be immersed in liquid). Spot cleaning is not 
recommended, but if necessary, dampen a clean 
cloth with solution of warm water and mild detergent 
to dab the spot until it’s gone (do not rub!) 

Troubleshooting  

Problem  Solution  

For Woven fabrics, 
repeated rubbing or 
where it comes into 
contact with the 
window edge may 
cause the fabric 
edges to fray 
slightly over time. 

To remedy, use a pair of 
fabric scissors to gently 
trim the fraying. 

Some options listed may not be applicable. 



N301166-6 
65101-11912-F 

Installation Instructions 
Honeycomb Shades 

Cordless,Cordless TDBU, Cordless Day & Night 

Getting Started 
Remove shade from package. Save packaging until 
shade is installed and working to your satisfaction. 

Tools: 

 Level
 Measuring Tape
 Pencil
 Power drill
(¼” hex driver and drill bit)

 Screwdriver

You will need to use the following fasteners for your 
particular mounting surface. 

Surface Fastener 

Wood 
#8 1 1/4” Screws 
(Provided) 
#6 3/4”screws  

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

Check Components/Hardware: 

Cordless     Cordless
(3/8”Single, 9/16”Single)  (3/4”Single, 1/2”Double) 

Cordless TDBU/DNN Cordless/ 

(3/8”Single, 9/16”Single,   Cordless TDBU/DNN 

3/4”Single, 1/2”Double    (3/4”Double, 1 /4”Single)  

Installation Bracket

Hardware Standard Quantity 

Order Width 
(X) 

X≦43" 
43" <X≦

72" 

72"<X

≦101" 
X>101"

Installation 
Bracket 

2 3 4 5 

Handle 

1pc for X≦72", 2pcs for X>72" 

(Cordless)

2pcs for X≦72", 4pcs for X>72" 
(Cordless TDBU & Day & Night)

1 1/4" Screw for 
Installation 

Bracket 
4 6 8 10 

Hold Down 
Bracket (Optional) 

2 2 2 2 

Spacer Block 
(Optional)

1pc to extend distance 3/8” 
2pcs to extend distance 11/16” 

2" Screw for 
Installation 

Bracket with 
Spacer Block 

(Optional)

4 6 8 10 

3/4" Screw for 
Hold Down 

Bracket (Optional) 
4 4 4 4 

Note: Optional flat head screws included. 
Use as needed. 

Step 1: Bracket Installation 

For shade width＞20”, measure 7” from both ends 

of the head rail. Mark the bracket location on the 
mounting surface 

For shade width≤20”, space each bracket evenly. 

Mark the bracket location on the mounting surface 

Side Mount  
Use two 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 
Allocate a min. distance of 1/16’’ from wall to the 
front of brackets.

For 3/8” Single, 3/4” Single & 1/2” Double, 3/4” 
Double & 1 1/4” Single: 
Cordless, Cordless TDBU, Cordless Day & Night 

1/16"

Outside Mount  
Use two #8 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

For 3/8”Single, 9/16”Single, 3/4”Single & 
1/2”Double, Cordless, Cordless TDBU, 
Cordless Day & Night 
Allocate a min. distance of 1/16” between the end 
of brackets and the top of window frame. 

For 3/4” Double & 1 1/4” Single, Cordless, 
Cordless TDBU, Cordless Day & Night  
Allocate a min. distance of L2 between the end of 
the brackets and the top of the window frame.  

(0≤L2≤1/4”) 

L2

* For shallow mounting, use 1pc or 2pcs of flat head
screw to secure the bracket as below.

Step 2: Shade Installation 

 Position headrail at an angle so that it is hooked to
the front of the bracket. Then push it upward to snap
into the brackets.
For proper installation, start by attaching the front of
the rail to the bracket and ensure to stick right in
place.
For easier installation, lower the middle rail of
cordless TDBU away from the headrail before
installing the headrail.
Note: You will hear a click sound once the head rail is
properly secured.

Step 3: How to Install Shade Handle 

For order width＞72", the distance between

the 2 handles should be 48” as below. 

Handle Hold Down bracket 
(Optional)

3/4” Single & 1/2” Double 
Cordless, place brackets 
and align with the wall. 

! 



Middle Rail: 
Position the handle at an angle so that it is hooked to 
the rib at the top of the bottom rail. Then push the 
handle downward to snap into place. You will hear a 
loud click sound once the handle is properly secured. 

1
1

2

3

Click!

Bottom Rail: 
Position the handle at angle so that it is hooked to the 
rib on the bottom of the bottom rail. Then push the 
handle upward to snap into place. You will hear a loud 
click sound once the handle is properly secured. 

1

1

2

3

Click!

★Congratulations! You have finished installing

the shade.

How to Remove Shade Handle 
Use a flat head screwdriver to remove both hooked 
parts. When the hooked parts are loosened, the handle 
will easily come off. 

(To avoid scratching the rail with the screwdriver, please 
put a piece of adhesive tape on the head of the 
screwdriver before removing the handle from the rail.) 

Middle Rail 

1

2

Bottom Rail

1

2

Shade Operation

To lower the shade, gently pull down the shade 
by the bottom rail handle and stop at the desired 
location. 
For TDBU & Day & Night, pull down the bottom 
rail first before lowering the midle rail. 

To raise the shade, gently raise the shade by the 
bottom rail handle to desired height. 

For TDBU & Day & Night, if the shade will not 
lift, first lower the middle rail completely to the 
bottom rail. Raise both up together.  

Do not grasp the rail unevenly. Always lower 
or raise the shade in the middle or use even 
pressure with both hands to operate both handles 
on the rail.  

How to Install Hold Down (optional) 

A. For Hold Down Brackets.

 

B. For Magnetic Hold Down

Use M3x15mm screw to secure the magnet catch 
at the below location. Make sure the magnet catch 
align with the pre-installed magnet on shade 
bottom rail.  

Remove the Shade 
For cordless, fully raise the shade.
For TDBU / Day & Night, Lower the middle rail. 
Gently pry the bracket off the head rail with a flat 
screwdriver as below picture. 
Remove the shade. 

Cleaning the Shade 

Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the head rail should 

never be immersed in liquid). Spot cleaning is not 
recommended, but if necessary, dampen a clean 
cloth with a solution of warm water and mild 
detergent to dab the spot until it’s gone (do not rub!). 

Troubleshooting 

Problem Solution 

The shade 
will not snap 

into the 
mounting 
brackets 

Check if mounting brackets are 
aligned. Refer to below drawing.

The shade 
will not lift 

Gently pull down on the bottom 
rail to reactivate the cordless 
mechanism. Repeat if necessary. 
For TDBU & Day&Night, pull the 
midrail down fully to the bottom 
first. Then raise the bottom rail 
and middle rail up together. 

Check if all brackets are locked in 
place. Refer to below drawing. 

The shade 
stack up 
unevenly 

Lower the shade completely. 
Then raise it up to correct it. 
Repeat if necessary. 

Some options listed may not be 

applicable.

! 

Use #6 3/4” 
screw to 
secure each 
bracket. 



N301182-6 
65101-11920-F 

Installation Instructions 
Honeycomb Shades 

 

Getting Started 
Remove shade from package. Save packaging until 
shade is installed and working to your satisfaction. 

Tools: 

 Level
 Measuring Tape
 Pencil
 Power drill
(¼” hex driver and drill bit)

 Screwdriver

You will need to use the following fasteners for your 
particular mounting surface. 

Surface Fastener 

Wood 
#8 1 1/4” Screws 
(Provided) 
#6 3/4” screws  

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

Check Components/Hardware: 

   
 Installation Bracket  Installation Bracket 

(3/4” Single)    (1 1/4” Single) 

 Handle  Hold Down bracket 
   (Optional) 

Hardware Standard Quantity

For Cordless: 

Order Width (X) 

Installation Bracket 

Handle 

1 1/4" Screw for 
Installation Bracket 
Hold Down Bracket 

(Optional) 

Spacer Block 
(Optional) 

2" Screw for 
Installation Bracket 
with Spacer Block 

(Optional) 
3/4" Screw for Hold 

Down Bracket 
(Optional) 

For Cordless TDBU:

Order Width (X) 

Installation Bracket 

Handle 

1 1/4" Screw for 
Installation Bracket 

Hold Down Bracket 
(Optional) 

Spacer Block 
(Optional) 

2" Screw for 
Installation Bracket 
with Spacer Block 

(Optional) 
3/4" Screw for Hold 

Down Bracket 
(Optional) 

Note: Optional flat head screws included.
Use as needed.

Step 1: Bracket Installation

 ends of the headrail. Mark
the mounting surface

Cordless & Cordless TDBU for Woven Colors 

Hardware Standard Quantity 

 X≦39" 
39"< 

X≦66" 
66"< 

X≦86" 

 2 3 4 

1pc for X≦72" 
2pcs for X>72" 

 
4 6 8 

Hold Down Bracket 
2 2 2 

1pc to extend distance 3/8” 
2pcs to extend distance 11/16” 

Installation Bracket 
4 6 8 

3/4" Screw for Hold 
4 4 4 

: 

 
X≦ 
39" 

39" < 
X≦66" 

66"< 
X≦78" 

 2 3 4 

2pcs for X≦72" 
4pcs for X>72" 

 
4 6 8 

Hold Down Bracket 2 2 2 

1pc for extend distance 3/8” 
2pcs for extend distance 11/16” 

Installation Bracket 4 6 8 

3/4" Screw for Hold 
4 4 4 

Note: Optional flat head screws included. 
Use as needed. 

Step 1: Bracket Installation 

from b
the bracket locatio
Measure 5” from both ends of the headrail. Mark 
the bracket location on the mounting surface. 

Inside Mount: 
Use two 1 1/4” mounting screws to secure 
brackets.  

Use wall anchors for drywall or plaster wall. 

Place brackets and align with the wall. 

Outside Mount: 
Use two 1 1/4’’ mounting screws to secure brackets.
Use wall anchors for drywall or plaster wall.  

Allocate a min. distance of 3/16’’ between the end
of the brackets and the top of the window frame. 

* For shallow mounting, use a flat head screw to
secure the bracket at 45°.

Step 2: Shade Installation 

 Position the headrail at an angle so that it hooks
into the front of the bracket. Then push upward to
snap the headrail into the bracket.

For proper installation, start by attaching the 
front of the rail to the bracket and ensure to stick 
right in place. 

 Note: You will hear a click sound once the head rail is
properly secured..

 For easier installation, lower the middle rail of
cordless TDBU away from the headrail before
installing the headrail.

! 

Use two 1 1/4’’ mounting screws to secure brackets. 

between the end 

Position the headrail at an angle so that it hooks
to

start by attaching the
and ensure to stick 

Note: You will hear a click sound once the head rail is

lower the middle rail of
before

Step 3: How to Install Shade Handle 

Hook the top part of the handle onto the rail rib.  
Push the handle downward so it clips to the bottom of 
the rail. You will hear a loud click sound once the 
handle is properly secured. 

1 2
2

3

Click!

★ Congratulations! You have finished
installing the shade.

How to Uninstall Shade Handle 

For order width＞72", the distance between
the 2 handles should be 48” as below. 

Use a flat head screwdriver to remove the handle 
from the bottom of the rail. 
(To avoid scratching the rail with the screwdriver, 
please put a piece of adhesive tape on the head of 
the screwdriver before removing the handle from the 
rail.) 

! 



Shade Operation 

To lower the shade, gently pull down the shade by the 
bottom rail handle and stop at the desired location. 
For TDBU, pull down the bottom rail first before 
lowering the middle rail. 

To raise the shade, gently raise the shade by the 
bottom rail handle to desired height. 

For TDBU, if the shade will not lift, pull the middle 
rail down fully to the bottom first and then raise up 
bottom rail together with middle rail. 

Do not grasp the rail unevenly. Always lower or 
raise the shade in the middle, or use even pressure with 
both hands to operate both handles on the rail. 

How to Install Hold Down (optional)

A. For Hold Down Brackets

 

 

B. For Magnetic Hold Down
Use M3x15mm screw to secure the magnet catch at the
below location. Make sure the magnet catch aligns with
the pre-installed magnet on shade bottom rail.

Shade Removal 

For cordless, fully raise the shade. 
For TDBU, lower the middle rail. 
Gently pry the bracket off the headrail with a flat 
screwdriver as pictured below.  
Remove the shade.  

Cleaning the Shade 

Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the headrail should 
never be immersed in liquid). Spot cleaning is not 
recommended, but if necessary, dampen a clean 
cloth with a solution of warm water and mild 
detergent to dab the spot until it’s gone (do not 
rub!). 

Troubleshooting 

Problem Solution 

The shade will 
not snap into 
the mounting 
brackets. 

Check if mounting brackets are 
aligned. Refer to below 
drawing. 

The shade will 
not lift. 

Gently pull down on the bottom 
rail to reactivate the cordless 
mechanism. Repeat if 
necessary. 
For TDBU, pull the middle rail 

Problem Solution 
down fully to the bottom first. 
Then raise the bottom rail and 
middle rail up together. 
Check if all brackets are locked 
in place. Refer to below 
drawing. 

The shade 
stacks up 
unevenly. 

Lower the shade completely, 
and then raise it up to correct it. 
Repeat if necessary. 

For Woven 
fabrics, 
repeated 
rubbing or 
where it 
comes into 
contact with 
the window 
edge may 
cause the 
fabric edges 
to fray slightly 
over time. 

To remedy, use a pair of fabric 
scissors to gently trim the 
fraying.  

Some options listed may not be 
applicable. 

! 

Use #6 3/4” 
screw to secure 
each bracket. 



Step1 

N301184-1 
65101-11922-A 

Installation Instructions 
Honeycomb Shades

ClearFitTM

With Rail Cover  Without Rail Cover

Getting Started 
Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 

Tools Needed： 
 Power drill and 

drill bit 
 Measuring tape 
 Screwdriver 
 Level 
 Pencil 

You will need to use the following fasteners for your 
particular mounting surface. 

Surface Fastener 

Wood 
M3.5×25mm Screws 
(Provided) 

M3.8×38mm 

Drywall/Plaster 
Wall Anchors, Expansion Bolts
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

Check Components/Hardware: 

Handle Base (Pre-Installed)  Handle 

Hardware Standard Quantity 
 Order Width (X) X≦50" X>50"

Handle 2 4 
Cord Equalizer Housing 

Base(with Rail Cover)  
2 

Cord Equalizer Housing 
Base(without Rail Cover)  

4 

 Order Width (X) X≦50" X>50"

L Bracket (for 3/8”Single, 
Outside Mount)  
(with Rail Cover) 

2 N/A 

L Bracket (for 3/8”Single, 
Outside Mount)  

(without Rail Cover) 
4 N/A 

L Bracket for windows with 
marble sill (Optional) 

2 

L bracket (for 3/4”Single, 
1/2”Double & 9/16”Single 

Outside Mount)  
(with Rail Cover) 

2 

L bracket (for 3/4”Single, 
1/2”Double&9/16”Single, 

Outside Mount) (without Rail 
Cover) 

8.5”<X≦40”, 4 
40”<X≦52”, 5 
52”<X≦65”, 6 
65”<X≦72”, 7 

M3.5×25mm Screw (for 
Base, 3/8” Single, Inside 

Mount) 
(with Rail Cover) 

8.5”<X≦ 40”, 4 
40”<X≦ 50”, 5 

N/A 

M3.5×25mm Screw (for 
Base, 3/8” Single, 3/4”Single, 

1/2”Double & 9/16”Single 
Inside Mount) 

(without Rail Cover) 

4 

M3.5×25mm Screw (for 
Base, 3/4”Single, 1/2”Double & 

9/16”Single, Inside Mount) 
(with Rail Cover) 

8.5”<X≦40”, 4 
40”<X≦52”, 5 
52”<X≦72”, 6 

1 1/4” Screw (for Base,  
1 1/4”Single & 3/4”Double, 

Inside Mount) 
(with Rail Cover) 

8.5”<X≦40”, 6 
40”<X≦52”, 8 

 52”<X≦72”, 10 

1 1/4” Screw (for Base,  
1 1/4”Single & 3/4”Double, 

Inside Mount) 
(without Rail Cover)

4 

M3.8x38mm screw (for 
Outside Mount) 

L bracket qty*2 

Spacer Block (Optional, 
Outside Mount) 

1pc to extend distance 3/8” 
2pcs to extend distance 
11/16” 

M3x3.6mm Screw (for  
3/8”Single, Outside Mount) 

(Without Rail Cover) 
L bracket qty 

M3x3.6mm Screw (for  
3/4”Single, 1/2”Double & 

9/16”Single Outside Mount) 
(Without Rail Cover) 

4 

M3x3.6mm Screw (for 
3/8”Single, 3/4”Single, 

1/2”Double & 9/16”Single 
Outside Mount) 

(With Rail Cover) 

2 

Bracket Installation 
Notes: when installing the Cord 
Equalizer Housing Cover, it is 
suggested to secure the bottom covers 

first and then unfasten the top cord to 
secure the top covers. 

A. Without Rail Cover
(Only available for
3/8”Single, 1/2”Double,
9/16”Single, 3/4”Single,
not available for
1 1/4”Single &
3/4”Double)

Inside Mount 
For flush mount, the minimum distance from the 
top/bottom wall to the Cord Equalizer Housing base 
side is B and A from the side wall to the edge of Base. 
Use M3.5×25mm Screw to secure the base. Align 
the cover with the notch of the base and push the 
cover in toward the wall. 

TOP: 
For 3/8”Single, A=7/16”& B=3/8” 

For 9/16”Single, A=7/16”&B=1/2” 

For 3/4”Single & 1/2”Double, A=7/16” & B=5/8” 

 

BOTTOM: 

Outside Mount 
TOP: Use two M3.8x38mm screws to fasten the L 
bracket. 

Once the L bracket is installed, use one M3 x 3.6mm 
bolt to attach base. Finally, align the cover with the 
notch of the base and push the cover in, as shown in 
“Inside Mount” illustration. 

(The shade width and length is 4” larger than the 
window opening) 

 

BOTTOM: Follow the directions provided for the Top 
L brackets, but reverse the direction.  

(The shade width and length is 4” larger than the 
window opening) 

 

For 3/4”Single, 1/2”Double &9/16”Single, when L 
bracket qty is more than 4pcs, please install the 
extra L brackets on top to attach with the magnets in 
the headrail.  

Step1: place the L brackets on four corners 
Step2: if there’s one extra L bracket, measure from 

left headrail end cap to middle of first magnet 
to locate the extra L bracket and mark on the 
wall 

Step3: if there’re more L brackets, measure from left 
headrail end cap to middle of second / third 
magnet to locate the L brackets and mark on 
the wall. 

For 3/8”Single,  
A=7/16” & B=3/8” 

For 9/16”Single, 
A=7/16”& B=1/2” 

For 3/4”Single & 
1/2”Double, 
A=7/16”& B=5/8” 

(Bottom View) 

Use M3.8x38mm 
screws to fasten 
the L bracket and 
one M3x 3.6mm 
bolt to attach  
base on L bracket. 

step3 

Cover 

Base 

Step 2 

Notch 



TIP: Once the hardware is in place, make sure 
to keep the cords pulled tight. The shade 
should not sag or feel loose, if it does please 
pull the cords taut. 

B. With Rail Cover

Inside Mount 

For flush mount, use M3.5×25mm Screw to secure 
the rail cover and the base. 
For3/8”Single, 9/16”Single, 3/4”Single & 1/2”Double, 
A=5/8” 
For 3/4”Double & 1 1/4”Single, A=1 1/4” 

Align the cover with the notch of the base and push 

the cover in toward the wall as below diagram 
shows. 

Outside Mount 
Outside Mount –for 3/8”Single Cell, 1/2”Double 
Cell , 9/16”Single Cell & 3/4”Single Cell  
(Not available for larger cell size) 

Use two M3.8x38mm screws to fasten the L bracket. 
Then, align the cover with the notch of the base and 
push the cover in, as shown in “Inside Mount” 
illustration. 

BOTTOM 

TIP: Once the hardware is in place, make sure 
to keep the cords pulled tight. The shade 
should not sag or feel loose, if it does please 
pull the cords taut. 

Side mount L bracket for windows with marble 

sill (optional) (Not available for larger cell size) 

Allocate a distance of B (B=5/8” for 3/8”Single, 
9/16”Single, 3/4”Single & 1/2”Double) 
from bottom corner window frame and use two 
M3.8×38mm screws to secure the L bracket.  

Use one M3 x 3.6mm bolt to attach base to the L 
bracket (through inner screw hole) 

Handle Installation 
Slide the handle onto the handle base that is 
pre-attached to the rails. 

Operate your shade 

Notes 
For child safety, please check and ensure that there 
are no loose cords after the shade is completely 
installed. If the shade is too loose, please retie a new 
knot for it. 
Remove bottom Cord Equalizer Housing Covers, 
untie the knot and make a new knot for adjustment. 
Please do not tie the cord too tight as it will cause too 
much friction. 

Please also make sure that cords are nice and tight 
and not tangled. 

Cleaning 
Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the headrail should 

never be immersed in liquid). Spot cleaning is not 
recommended, but if necessary, dampen a clean 
cloth with a solution of warm water and mild 
detergent to dab the spot until it’s gone (do not rub!). 

Some options listed may not be 
applicable.

 

notch 

Base 

Cover 

step1 step 2 

BOTTOM: TOP: 

TOP 

Top View 

Use M3.8x38mm 
screws to fasten the L 
bracket and one M3x 
3.6mm bolt to attach 
base on L bracket. 

End cap 

Rail cover 

Blanket 

Bottom rail 

Handle 

Head rail 

End cap 

Cord Equalizer 
Housing Cover 

Cord Equalizer 
Housing Base 

Step1 Step2 



N301238-2
65101-11529-B

MOTORIZED CELLULAR SHADE MANUAL

(MCS1-A for
36W AC Adapter) 

(MCS1-A for
65W AC Adapter) 

 (MCS1-B for Battery)

NO. Item Specification

1 Power Source

2 Input

3 Output

4 Radio type
5 Motor type

6 Charging type

7 Charging Time
8 Charging Temperature
9 Operating Temperature

10 Relative Humidity

MCS1-A: AC Adapter
MCS1-B: Li-ion Battery
MCS1-A: 100-240V, 50/60 Hz
MCS1-B: 24V, 1.5A Max

MCS1-A: 24V, 1.32A Max.
MCS1-B: 10.89V, 1.65A Max.
2.4G RF
Brush DC motor
Power Charger PB-01S
Power Charger PB-02
< 2 hours
5°C ~ 35°C / 41°F ~ 95°F
0°C ~ 40°C / 32°F ~ 104°F
0% ~ 90% (Non-condensing)

MOUNTING INSTALLATION BRACKETS
The installation bracket may be used for INSIDE or OUTSIDE mounts. 

Please always avoid the charging port when placing the brackets.
Mounting the brackets level is essential for proper operation of the 
shade.

Shim the brackets if necessary to achieve a level alignment. The bracket 
requirements and placement are the same for inside and outside mount. 

Measure 8" from both ends of the headrail. Mark the bracket location on 
the mounting surface. Proper alignment of brackets will make installation 
easier.

* For shallow mounting, use 2 flat
head screws to secure the bracket
as shown in the drawing on the
right.

Inside Mount: 
Allow a minimum of 1/16” distance 
from the front of brackets to the edge 
of window opening as shown in the 
drawing on the right. Use two 
installation screws to secure 
brackets. Use wall anchors for 
drywall or plaster wall.

≧1/16"

8" 8"
Inside Mount Outside Mount

Install Hold Down Bracket (Optional):

B. For Magnetic Hold Down
Use M3x15mm screw to secure the magnet catch at the below
location. Make sure the magnet catch align with the pre-installed
magnet on shade bottom rail.

A. For Hold Down Brackets.
Use screw to secure each bracket.

Fully raise the shade, and then gently remove the bracket off the 
headrail with a flat screwdriver.

REMOVING THE SHADE

Congratulations!
You have finished installing the product.

Please also note that for shades with rechargeable batteries, 
the batteries will come with enough power to test your shade 
immediately after installation. Rechargeable batteries will be 
shipped out with approximately 50% battery to allow for 
testing. However, it is recommended to charge your battery to 
full before using your shade for other purposes. To check the 
battery level, please refer to the power charger manual.

1

2

1 7/16"(37mm)

left side of the shade

bottom of the
shade or
window sill

5/
16

"(8
m

m
)

TOOLS YOU WILL NEED

GETTING STARTED

You will need to use the following fasteners for your particular mounting 
surface.

Check Standard Components/Hardware: 

Level
Measuring Tape
Pencil
Power Drill (6mm hex driver and drill bit)
Screwdriver

Installation Bracket Installation Bracket Screw 

Spacer (Optional)  Hold Down Bracket (Optional) & Its Screw

With Spacer Block Shallow Mounting

 

 

 

 

Wood

Surface

Screws (Provided)

Fastener

Drywall/Plaster Wall Anchors,
Expansion Bolts (Not Provided)

Metal Sheet Metal Screws (Not Provided)

FCC ID: Q3V-MCS1

IC ID: 28542-MCS1

CAN ICES-003 (B) / NMB-003(B)

Less or 
Equal to 64”

Between 64-1/8” 
and 112” Over 112”

Hardware Standard Quantity:

Check Components for MCS1-A for AC Adapter:

Check Components for MCS1-B for Battery: 
Charging Wand (Optional)

Wired (without 
Rechargeable 
Battery) 
/Model#PB-02

Wireless (with 
Rechargeable 
Battery) 
/Model#PB-01S

36W AC Adapter 6.6 ft. Extension Cable 
(Optional)

(for 36W adapter)

6 ft. Power Cable
(for 65W adapter)

Order Width (X)  

Installation Bracket 2 3 4 
Installation Bracket 

Screw 
4 6 8 

Spacer Block 
(Optional) 

Hold Down Bracket 
(Optional)

2 2 2 

Hold Down Bracket 
Screw (Optional) 

4 4 4 

Varies per order request: 
1pc / bracket or 2pcs/bracket

READ BEFORE INSTALLATION
WARNING!  Important safety instructions.  Follow all instructions 

since incorrect installation can lead to severe injury. Before installing 
the device, remove any unnecessary cords or components and disable 
any equipment not needed for powered operation. 

WARNING!  The installation height will vary according to product type 
or installation situation and may exceed 98.43" (2.5m). 
    WARNING!  For the shades powered by battery (MCS1-B), please 
turn on the shade AFTER installation. Press and hold the shade button 
for 3 seconds, and the green light will flash, which means the shade is 
powered on.

For Model# MCS1-A：Make sure to provide proper accessibility to an 
electrical outlet. 

IMPORTANT! Wiring and servicing of these products should be 
referred to qualified personnel.

3°

Reserve space before installation :

For Model# MCS1-B：with built-in Li-ion battery pack 
and charging accessories.
    IMPORTANT! For Model #MCS1-B with built in 
Li-ion battery pack, please mount the headrail 
correctly. Make sure the headrail is level and that 
it doesn’t tilt forward. Improper installation may 
cause the charging wand to not make full contact 
with the charging port. The shade installation only 
allows up to 3° of deflection tolerance. 

Note: If spacer block is provided, please follow this guide:
Please always make sure the raised side of the spacer block is 
against the bracket.  

Install the Shade:
Position the head rail at an angle so that it is hooked to the front of 
the bracket. Then push it upward at the back to snap into the 
bracket.

Outside Mount: 
Use 2 flat head screws to secure 
each bracket. Use wall anchors for 
drywall or plaster wall. 

1

2

Note: You will hear a click sound once the head rail is properly secured.

Scan to learn more



WARNING!  Important safety instructions.  Follow all instructions since 
incorrect installation can lead to severe injury. 
Before installing the device, remove any unnecessary cords or 
components and disable any equipment not needed for powered 
operation. 

WARNING!  The installation height will vary according to product type or 
installation situation and may exceed 98.43" (2.5m).
   WARNING!  For shades powered by battery (DMCS1-B), please 
turn on the shade AFTER installation. Press and hold the shade 
button for 3 seconds, and the green light will flash, which means the 
shade is powered on.

N301240-2
65101-11530-B

MOTORIZED CELLULAR SHADE
WITH DUAL MOTOR MANUAL

READ BEFORE INSTALLATION

Check Components for DMCS1-A for AC Adapter:

Check Components for DMCS1-B for Battery: 

Fully raise the shade, and then gently remove the bracket off the headrail 
with a flat screwdriver.

REMOVING THE SHADE

1

2

You will need to use the following fasteners for your particular mounting surface.

Level
Measuring Tape
Pencil
Power Drill (6mm hex driver and drill bit)
Screwdriver

Wood

Surface

Screws (Provided)

Fastener

Drywall/Plaster Wall Anchors,
Expansion Bolts (Not Provided)

Metal Sheet Metal Screws (Not Provided)

 

NO. Item Specification

1 Power Source

2 Input

3 Output

4 Radio type

5 Motor type

6 Charging type

7 Charging Time
8 Charging Temperature

9 Operating Temperature

10 Relative Humidity

DMCS1-A: AC Adapter
DMCS1-B: Li-ion Battery
DMCS1-A: 100-240V, 50/60 Hz
DMCS1-B: 24V, 1.5A Max
DMCS1-A: 24V, 1.1A Max.
DMCS1-B: 10.89V, 1.3A Max.

2.4G RF
Brush DC motor

Power Charger PB-01S
Power Charger PB-02
< 2 hours

5°C ~ 35°C / 41°F ~ 95°F
0°C ~ 40°C / 32°F ~ 104°F
0% ~ 90% (Non-condensing)

MOUNTING INSTALLATION BRACKETS
The installation bracket may be used for INSIDE or OUTSIDE mounts. 

Please always avoid the charging port when placing the brackets.
Mounting the brackets level is essential for proper operation of the shade. 

Shim the brackets if necessary to achieve a level alignment. The bracket 
requirements and placement are the same for inside and outside mount.

Measure 8” from both ends of the headrail. Mark the bracket location on the 
mounting surface. Proper alignment of brackets will make installation easier.

≧1/16"

* For shallow mounting, use 2 flat head screws to 
secure the bracket as shown in the drawing on the right.

Inside Mount: 
Allow a minimum of 1/16” distance from the front of 
brackets to the edge of window opening as shown in the 
drawing on the right. Use two installation screws to 
secure brackets. Use wall anchors for drywall or plaster 
wall.

Outside Mount: 
Use 2 flat head screws to secure each bracket. Use wall 
anchors for drywall or plaster wall. 

8" 8"

3°

For Model# DMCS1-A：Make sure to provide proper accessibility to an 
electrical outlet. 

IMPORTANT!  Wiring and servicing of these products should be referred 
to qualified personnel.

Reserve space before installation :

DMCS1-A

DMCS1-B

TDBU Day & Night

TDBU Day & Night

65W AC Adapter

36W AC Adapter

GETTING STARTED
Check Standard Components/Hardware: 

Installation Bracket Installation Bracket Screw 

 Hold Down Bracket (Optional) & Its Screw

With Spacer Block Shallow Mounting

Spacer (Optional) 

Note: If spacer block is provided, 
please follow this guide:
Please always make sure the raised 
side of the spacer block is against 
the bracket.  

B. For Magnetic Hold Down
Use M3x15mm screw to secure the magnet catch at the below location.
Make sure the magnet catch align with the pre-installed magnet on
shade bottom rail.

A. For Hold Down Brackets.
Use screw to secure each bracket.

1 7/16"(37mm)

left side of the shade

bottom of the
shade or
window sill

5/
16

"(8
m

m
)

Inside Mount Outside Mount

Install Hold Down Bracket (Optional):

FCC ID: Q3V-DMCS1

IC ID: 28542-DMCS1

CAN ICES-003 (B) / NMB-003(B)

36W AC Adapter

Charging Wand (Optional)

Wired (without 
Rechargeable 
Battery) 
/Model#PB-02

Wireless (with 
Rechargeable 
Battery) 
/Model#PB-01S

For Model# DMCS1-B：with built-in Li-ion battery pack 
and charging accessories.

IMPORTANT!   For Model #DMCS1-B with built in 
Li-ion battery pack, please mount the headrail 
correctly. Make sure the headrail is level and that it 
doesn’t tilt forward. Improper installation may cause 
the charging wand to not make full contact with the 
charging port. The shade installation only allows up 
to 3° of deflection tolerance. 

TOOLS YOU WILL NEED

Install the Shade:
Position the head rail at an angle so that it is hooked to the front of the 
bracket. Then push it upward at the back to snap into the bracket.

1

2

Note: You will hear a click sound once the head rail is properly secured.

Hardware Standard Quantity:

Order Width (X)

Installation Bracket 2
4

3
6

4

2 2 2

4 4 4

8Installation Bracket Screw 

Spacer Block (Optional)

Hold Down Bracket (Optional)

Hold Down Bracket Screw (Optional)

Varies per order request: 
1pc / bracket or 2pcs/bracket

Less or 
Equal to 64”

Between 64-1/8” 
and 112” Over 112”

6.6 ft. Extension Cable 
(Optional)

(for 36W adapter)

6 ft. Power Cable
(for 65W adapter)

Congratulations!
You have finished installing the product.

Please also note that for shades with rechargeable batteries, 
the batteries will come with enough power to test your shade 
immediately after installation. Rechargeable batteries will be 
shipped out with approximately 50% battery to allow for 
testing. However, it is recommended to charge your battery to 
full before using your shade for other purposes. To check the 
battery level, please refer to the power charger manual.

Scan to learn more



N301466 
65101-11539 

Installation & Maintenance Instructions 

  Cordless Cellular ¾” S OPP Collection 

Getting Started 

NOTE: Prior to installation, please make sure your hands are 
clean and free from any dirt or oil that could cause damage to 
the fabric.  

Recommended Tools 

 Measuring Tape
 Pencil
 Level
 Screwdriver
 Power Drill (1/4” hex driver and drill bit)

You will need to use the following fasteners for your particular 
mounting surface. 

Surface Fastener 

Wood 
#8 1 1/4” Screws 
(Provided) 

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

Check Component / Hardware 

Installation Bracket Handle 

Hold Down Bracket & #6 3/4”screws (optional) 

Hardware Standard Quantity 

Order Width 
(X) 

Less or 
Equal to 39" 

Between 39" ~ 
66" 

Over 66" 

Installation 
Bracket 

2 3 4 

1 1/4" Screw for 
Installation 

Bracket 
4 6 8 

Handle 
Width less or equal to 72"(1829mm):1pcs 
Width over 72": 2pcs 

Step 1: Bracket Installation 

Measure 5” from both ends of the headrail. Mark the bracket 
location on the mounting surface. 

Inside Mount 

For the shade to operate properly when inside mounted: Check 
to make sure there is enough depth clearance for the installation 
bracket and no 
obstructions.  

If you would like your 
shade to be flush with the 
wall, leave a distance of 
1/4” from the wall to the 
front of the bracket. 

Outside Mount 

Hold the bracket against the wall. Mark a line at every bracket 
location (shown on the picture).  

Make sure the lines are level 
with each other.  

The min. distance from the wall 
to the bottom of the bracket 
needs to be 1/4”.  

Step 2. Shade Installation 

Position the head rail at an angle so that it is hooks into the front 
of the bracket. Then push upward to snap the head rail into the 
bracket.  

Step 3. How to Install Shade Handle

Hook the top part of the handle onto the rail rib.  
Push the handle downward so it clips to the bottom of the rail. 
You will hear a loud click sound once the handle is properly 
secured 

Click



Step 4. Shade Operation 

To lower the shade, gently pull down the shade by the bottom 
rail handle and stop at the desired location. 

To raise the shade, gently raise the shade by the bottom rail 
handle to the desired height. 

Step 5. How to Install Hold Down (optional for outside mount)

 

★ Congratulations! You have finished installing the shade.

How to Uninstall Shade Handle 

Use a flat head screwdriver to remove the handle from the 
bottom of the rail. 
(To avoid scratching the rail with the screwdriver: Please put a 
piece of adhesive tape on the head of the screwdriver before 
removing the handle from the rail.) 

Shade Removal 

Fully raise the shade that you want to remove.  
Gently pry the bracket off the head rail with a flat screwdriver as 
shown in the below picture.  
Remove the shade. 

Clean the Shade 

Routine cleaning will help maintain the beauty of your shade. 
The shade can be cleaned by using a soft brush, vacuumed with 
a low suction hand-held vacuum, cleaned ultrasonically (a mild 
solution must be used and the head rail should never be 
immersed in liquid). Spot cleaning is not recommended, but if 
necessary, dampen a clean cloth with a solution of warm water 
and mild detergent to dab the spot until it’s gone (do not rub!). 

Click 

Use #6 3/4” screw to 
secure each bracket. 




